IEALE EH -
B stEoxzxb Fﬁ Z
—( R4k )

D ALECHITEIL, BEEEANSLZTHELTE, B ERALTT.

@ D+O=0+0 @ (O+0O)+A=[0+(O+2)

@ OxO=0x[] @ ([(OxO) xA=[]x (OxA)

@ HLEXHTREICE, ROLILHEOIF YA DY) 7,

@ ([(J+0)xAa=[xAa0+0OxA @ Ix (O+2)=xO+[IxA
® (O-0O)xa=0xa-0Oxa @ [OxO-2)=0O0xO-Oxa

TFARERE
RO ICHTREIHEZALRIL,
(1) 4+5= + 4
(2) (5+7)+3= +(7+3)
(3) 2x8=8x
(4) (7x4)x5="7x( X5)

2 RO CHTHERMEEZLSL,

(1) 6 xX(10+ 4)=6 X + X 4
(2) (10 = 2)x 29 = X 29 — 2 X
(3) 17Xx9—-17%x3=17x ( — )
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I ko ek TREBMEEALSL,
(1) 38+84+16=38+ (| 7 +16=38+ 4 |=[ 7 |

7 1 )
(2) 73X4x25=73x( 7 [x25)=73x 4 |= 7 |

7 1 J

24 <3>ULTEHELEEL,
(1) 63+ 58+ 42 (2) 37+86+ 6.3

(3) 32x25x%x8 (4) 125x17 X8

B kD B TREBMEEALSL,
(1) 17 x8+33x8=017+ 7 Nx8= 4 [x8=] 7 |

7 14 )

(2) 99x8= (100—| 7 |)x8=100x8—| 4 [x8=800—- & |=[ T |
7 1
) I

U <xsLTEHELESL,
(1) 3.7 X 24+ 37 x76 (2) 98 X 49
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[Z(F ARIRE]
hUVE VA VAR IS
1 1
(1) 5 (2) 5 (1) O+O0=0+0
(3) 2 (4) 4 (2) (O+0O) +2a=+ (O+2)
(3) OxO=0x]
(4) (OxO) xAa=[]x (OxA)
2 2

(1) Ox (O+2) =xO+[xA
(2) (O-O)xAa=0xAa-0OxaA
(3) OxO-Oxa=0x (O-2)
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[F+ L IUMRE]

HPWE

T RNA R

(1) 370 (2) 4802

(1) 7 8 4 100
7 138
2) 7 4 4 100
7 7300
(1) 163 (2) 96
(3) 6400 (4) 17000
(1) 7 33 A4 50
7 400
(2) 7 1 1 78

e

ELECHITEIL, BHEEIANNGATHEL TE, BAIELRE

LT,

P2

(2) 3.7+86+ 6.3=(3.7+6.3)+ 86
=10+ 86 =96

(4) 125X 17 x8=(125 x 8) x 17
= 1000 X 17 = 17000

P

(1) (O+0)xAa=0xA+Ox2%2FfABL FT,
(2) (O-0O)xAa=xA-0Oxa%zfALFT,

L

(1) 3.7 X 24+ 37 x 76 =3.7 x (24 + 76)
= 3.7 x 100 = 370

(2) 98 x 49 = (100 — 2) X 49
=100 X 49 — 2 X 49
= 4900 — 98 = 4802

(72— REXIE)



